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E . | | [210]
. @UT - A / SECTION - A |

TR W¥T / Objective Type Questions

mﬂrmﬁn 1g 100 7F & 997 & WY A% fweq iy 70 & fref & v wat
&1 st 50 W & IOV AU ZNT Y 0 WE frwew # oMR Wz uw
Refaa &% |

| '50x1=50
Question Nos. 1 to 100 have four options, out of which only one is correct.

Apswer any 50 questions. 'You have to mark your selected option on the
OMR-Sheet. 50x1=50

1. ﬂﬂ@ﬁ,%ﬂ@ﬂﬁﬁﬂ@ﬁ#:s%@ﬁﬁwmﬁﬂm
z:s%laﬂﬁm%@ﬁma@m%
A  4:7 . | (B) 3:5
(®)] 9:5 ' (D) 5:9

The ratio of the volumes of two cones is 4 : 5 and the ratio of their

base radii is 2 : 3. The ratio of their vertical heights is

a)  4:7 B) 3:5
ON
C 9:5 - D) 5:9 Y ¥
e
0. T GHiER S H o A UG 5 - 3n @, A THH WA AK & £ANNEN
X
<“?9N’\ =0
(A) 3 (B)/ -3 4 q‘/‘
c) 4 D 5 >

"0 131-(44/50) Page 3 of 48




is
(A . 3 B) -3
© 4 D s
WW%WW%%W (46),(0,4) 3% (5,5 % sy
s o e 2
® (5,2 B (1,3)
©  (4,4) D (35

The coordinates of the vertices of g triangle are (4,6),(0,4 ) and
(S,5). The coordinates of its centroid will be
@) (5,2) B (1,3)

© (44) D) (3,5)

WWW%%WWQMH%WWWQ%#\G%I
mmaﬂﬁﬁéwm%

A 6:7 B) 7:6
() 4:5 D) 7:3

The curved surface area of a cylinder is 264 m? and its volume is

924 m3. The ratio of its diameter to its height is

(A)  6:7 B) 7:6
€ 4:5 (D) 7:3
L2 131-(44/50) | Page 4 of 48
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(210 |

ﬂf’{ mw ( a, h )y ( h, ¢} :‘hl (e, a ) i ‘;ﬂ? h"{‘ﬂ w1 W, t{ﬁ( ?H?"f 71
3 s

a’ +b3 4 ¢ TTHT .

(A) 0 (B) abe

(C) 3abc (D) ua+ b+ e

If the centroid of the triangle formed by the points (g, b ), [ b, ¢ ) and

(¢, a) is the origin then a® +b” +¢” is equal to
A 0 (B)  abc

C) 3abe D) a+b+c

=tz et Frgst & vimt & M2 (0, 4), (0, 0) T (3,0) #, A FYA

I AATRA A

(A) 3 (B) 6

) 9 (D) 12

If the coordinates of the vertices of a triangle are (0. 4 ). { 0.0
(3,0}, then the area of the triangle 14

(A) 9 (H3) 0

(L3) 14

} and

[ 13 (447801 Page 5 of 48



a’rmmﬁ“ﬁ‘rﬁwaﬁmmz; 9% T [210
T &
g
(A) | 2:3
B) 4:9
(C) 81:16
(D)ggglé 81

their areag will be

A ‘ .
4 2:3 B) 4:9

€) 81:16 - (D) 16:81

A AABC ¥R ADEF THEq € T BC = 4 ¥, BF = 5 9 qor
AABC ™1 &6 80 W ¥, Tt ADEF?T.W &

(A) 100 9 B) 125 ¥HP

o 150 42 N D) 200 W

If AABC and ADEF are similar and 5C= 4 em, EF=5 cm and the area

of AABC is 80 cm?, then the area of ADEF is

(A) 100 cm? (B) 125 cm?
(©) 150 cm? D) 200 co®
[2131-(44/50) Rage Bt




9.

10.

11,

[210]
ﬂ ﬁamﬂqﬂ?ﬁfﬂml4ﬁ%§[,?ﬁﬁmmm ‘

n 154 W (B) 231 AR

c) 616 tiie (D) 516 QHP

If the radius of a circle is 14 cm, then the area of the circle is

(A) 154 cm? (B) 231 cm?

(C) 616 cm? (D) 516 cm?

af ferdl ot Bt oo 149 &Y, O o Y ity g |

(A) 44 FH B) ss

(C) 42 9H S (b) 616 WA

If the radius of a circle is 14 cm, then the circumference of the
circle is
(A) 44 cm

(B) 88 cm

(C) 42 cm (D) 616 cm

0.49 —gwﬁmw Hehell & (STl p, g 16 & g=0)

49 49 ,_
(A) 100 B 359 %
) o
49 SE
(©) _;L% D )
T

——

[ 2 131—(44/50)‘ Page 7 of




E i ' 121

0-49 can be expressed in the form

integers g #0 ) as

W o0 B

@ 5% o B
12, ﬁ%ﬁ@ﬁ?mﬁﬁqmg ?'

W i B) /36

& m&\ | D) Ji6

W 7o B %
@V Dy
13. g9 10x-25 AT IEF &
w3 ® -3
© 3 | o 2

The zero of the polynomial 10x - 25 is

(A)

N

® -3

N | —

(€)

| 2131-(44/50) Page 8 of 48



I 3x” +8x+10 H UK §

M
*

The degree of the polynomial 3x2 4 8x+10 is

A) 3 B 2
Cc 8 : | D) 10
15. e ¥ ¥ S e g ¥ o
A) x?+4x+4=0 B)  (x? +Vx)(x+ V)
(Ci/ (x+1)2+x2 =0 D)  (x+1)p =11

Which of the following is a quadratic equation ?

(@A) - x> +4dx+4=0 (B) (x2 +Vx)(x+Vx)=

€ (x+1 +x?>=0 D) (x+1)P° =11

16. A p AT g ST TEAE & A pdg T pq W Howo &

(Aa)  pPq? | ® pl
€ pq® e
e — " Page 9 of 48
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J [2
If p, g are prime numbers then the H.C.1, of p‘qq and P)'q is

&) pig? @) p’q

© P D) pg

17. sin(90°-0)-cos0 =
®)  sino (B)  tan®
€ o (D) 1
18. A a=2%x3, b=2x3, c=8"x5 A (a b, c) F LCM. -
23x32x5,?‘ﬁ n=
4 @ 1 B 3
{ © 2 D) 4
'1" If a=2°x3, b=2x3, c=3"x5 and LCM. of (a, b, c) = 25x32 x5,
| then n =
a) 1 | B) 3
c 2 D) 4
19. g TURHg Wesl 3445 T 3- V5 1 [rwe § U
(A\)/ RHT G (B)  ¥IRTY Hem
(C)  (A) FR (B) M (D) T § HKE
[’2'1—3“1—-(;;@ - Page 10 of 48




(210 |

ﬂ The product of two irrational numbery 3+V8 and 3 JE i n/
Bt/ AN

(A] 1‘8'“()1’\31 t\llﬁ\l)Ct‘ (I“ irru(innnl i bie

©) both (A) and (B) ()

none of thene

o , - <
Lo e S X% +4x-12 & YH § ety

A 2,5 (9( -2,5

(C\)/ 2,~6 Dy 2,6

The zeroes of the quadratic polynomial x? +4x —12 are
(A) 2,5 (B) -2,5

€ 2,-6 (D)

25

21, WA FEE % I AWl F A BN A 4 ;9 ¥ TF A% TE H

GERTSIRC i C T

@) 2:3 (B) 4:9

(C) 16: 81 (D) 1:3
(o)

P . . . . I b ok O ‘,"3.;‘
The ratio of the volumes of two cylinders of equal hewht s 4 !
ratio of the areas of their curved surfaces will be

(A)  2:3 (B) 49

() 16 - 81 (o IR

: mimrmes - Page L1 of 98
2131 (#4180 -




PR T e a——— R G

ST 0 g 2
) 2:3 | B 1:3
€ 3:4 D), 1:2

L

If the diameter and the height of a cone and a cylinder be equal, the

what will be the ratio of their volumes ?

4 2:3 . (B) 13

€ 3:4 (D) 1:2

)3 _tan45°-tan30° _
' T+tan45°.tan30°

J3-1 V3 +1
R . B
1 |
© 5 (D\)/lv

24, FCFRUEA(x,2), B(-3,-4)am C(7,-5)W@ &, d xFI AT

(A)  -63 ' (B) -60

© 63 o) T

If the points A (x, 2 ), B(- 3,-4) and C(7,-5) are collinear, then

the value of xis
A) -63° B) -60

(C) 63 (D) none of these

|2131—(44/5§] - " Page 12 of 48




26:

27,

X {210}
ﬁ @ 0AB [T ¥ A (a0 hO(O0)3 T B (0, b7 =

)5,
PR

QA ( arh g W) ¢

w ab B fab
1 2,2 1,2

© Fab D) b

The area of triangle OAB with vertices A (.a, 0 ), O (0 ,0 ) and

B (0, b) (in square units) is

A) ab B gab
©) —12-a2b2 (D) %bz

afs 6 (4, a) T 2x -3y =5 W [ &, @ o F AH &7

@A 1 (B) -1

1
© 3 o 3

- If the point ( 4, a) lies on the line 2x -3y =35, then the value of a s

Ay 1 B) -1

‘ |

) 3 O 3

X2 -3 w0 AU X2 -8y 415 =0 W IHUAH HE g
(A) 5 B 3

(C) 3 (D) 5 |

’ 71 grt {4“/50’5 i"dy‘t’ 13 of 48



[210
Common root in XQ—QX—3=O and x%2 -8x+15=0 is

(A) S (B) g -
€ -3 (D) -5
28, W%%Wﬁﬁp@ﬁ@ﬁ%@ﬁmw PBEﬁa“rnélqE
PA = 594!, A1 PB #T wars gt
(A)/ 10 Tt B) 5T
©  1sEH D) T 9 FIS =&
PA and PB are two tangents drawn from an external point P tog
circle. If PA = 5 cm, then the length of PBis
(A)  10cm B) S5cm
¢ (C) 15cm (D) none of these
i 29. WW@@%W@W%BWWS%W%%IW
g 3fe’ gnT
a 2 | B) 3
© 4 O 5

The second term of an A.P. is 13 and its 5th term is 25. [ts common

difference is

A 2 B 3
© 4 B s ——
2131-@as0| Page 14 of
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| 210
e A %o 1201
ﬂ 53 AR 17 ] AR AT & 4 g
0. :
= |®), 15

(A K

© O o

The arithmetic mean of 13 and 17 is

W 18 ® 15

© 17 | o ren e

5p, A foRdl TEETE SES plx)=6x2-7x-3 % IIAF o,p o, Al a+p=

7
(A) —2— | ' : @ =
© 5 o 1

If a,p are the zeroes of any quadratic polynomial p(x)= 6x2-7x-3,

then a+p ="
w3 | ® L
© 3 ©

‘ 2131—(44/50)[ Page 15 of 48
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If zeroes of the Polynomia] 42 [21g
X“+ax+b .
then ¢ = are equal but of opposite sj,

> % % B Ry ws o Y 0 A5 E 7

@ x*+5xe5 B xP-5x

(C) X2 + S‘X 4 (D) x2 -5

Which of the following is a quadratic‘ ponndmial whose zeroes are

Oand 5°?
(A) x%+5x+5 ) (B) x?-5x
(C) x*+5x D) x*- 5

34 . o 1 HF g o T (T ax+10y =9, Dx+5y =11 T Hf

A 2 (]3)/ ~2
e =4 (D) 4

/The value of a for which the system of equations ax+ 10y =9,
2x+5y=11hasno solution is
B) -2

(D) 4

T _ﬂmml , Page 16 of 48
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(82}

36.

3. 234 IS THEYE § 3w Hr w §

© 64

AL Rk r‘

2% +5x-12=0 FT T 3

[210)
w0 ~ B)
SO ‘ D) 4
One root of 2x% +5x 13 = i
@ 0 B |
o D) 4
Hﬁmsﬁﬂnoﬁﬁ:ommw% A
. B s | W
© 6 D 7'4 g %? 5

2
V'

-

The discriminant i !
‘ an <\3f the equation 33x2 . 10x+4/3 =0 is equal to

(A) 44 B 54

D) 74

@A) 3 B) 4

€ , 2

S (D) '1\

What is the power of 3 in the prime factorisation of 234 2

(A) 3 B) 4
iy 2 D) 1
B (2131 wars] Page 17 ol 48




e G e & g A e e # o

T &

2,3x+2
&) x*+2x-3 (B X+

2_ 2
(C) 4 X% ~3x-2 D)  x“-3x+
' jal are - 3 and
The sum and product of zeroes of a quadratic polynomia

2 respectively. Then the polynomial is

2 4 3x42

()  x2+2x-3 [B). & HokE
2

© F-3x-2 D)  x7-3x+2

39. U HIel il SgU% hEelll &

(A Teema sgug B)  Frem 9gug
(C)\/Wa‘”'@q? D) T g B Tl

A polynomial of degree one is called
(A)  quadratic polynomial (B)  cubic polynomial

(C) linear polynomial (D)  none of these

40. fr=ileifiad | @ o sgue &t w9 = w9 &

(A) ax? +bx+c, a#0 (B) ax4+bx3+c,a¢0

€, W +bx? +ex+d, a#0 (D) 0 9 HIS T
213‘1:(‘44/50) | Page 18 of 48




3 2
(C) ax® + bx tox+d, g g D)

41.  2,7,5,3, 8 T W &

A 2 B) 3

© s D) 7
2. 7,2,5,7,7,3, 7 % 5ot ¥

a) 2 | - B) 3

(C) 5 | (Iy 7

The mode of 7, 2, 9, 7: 7, 3,7 1s ’

. A
@ 2 | B 3 %
) 5 o 7 X

3. o A 15 - 25 F o faeT &

(B) 20
A) 10 o
© 30 ] =e
—— Page 19 of 48 ;
2131-(44/50) |




The class m

A 10
(B)
€ 30 D)
4. T AR 2-5.5.8.8- 11,11 - 14
(A) 2 (B)
€ 4 (D)
The length of the class intervals of th
11- 14, ... 18
A 2 (B)
4 (D)
43. (secA—cosA)(cotA+tanA)=
(A) tanA.sin4 (B)
(©)  sinA.cotA D)
16, TR TR SUAR fANH S B A 6 8

w

(D)

th
ne

¢

number is

ark of the class interval 15 - 25 is

20
40

..é?avﬁaﬁamé%

3
3-5

e classes 2 - 5., 5-88-11

38

tanA.sec A

sec A. sin2 A

a e g gem e

15

mean of four consecutive odd numbers is 6, then the largest

[2131-(44/50)
| 2131-(a4/50) |
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4%,

[if
.7,

st P o, JEY
(C) AP AN o

What should be the length of the

4 € classes to calculate the mode from
the formula ?

(A) Equal (B)  Unequal
(C Very large (D)  None of these

UF AR

m?&mwwamawm:zswm%lmw

F1 20 7

(A) 22 B) 235
&
) 24 D) 245

The mean and mode of a frequency distribution are 28 and 16

respectively, What will be its median ?
(A) 22 (B) 235
) 24 (D) 245

4in45°,1an45°% sec45° =

(/ j () (?j/\ L
r ’} ’/{ (I)J a Q
— 2131 "'(',";)5(,,'! Page 21 of 48




50 ¥ N I 9% g g

(A nr B) wr’h

©  wr(r+ry D) 2nrh
The total surface area of a cone is
&) ri B) ar’h

©)  mr(r+i) | (D)  2arh

51. wﬁﬁMw,smaﬂrsmﬁﬁl@ﬁamw feRTeT e

&1 T T T, 7 WHE B Y i
@ | ®, 3
4 © 2 I

A bag contains 7 red, 8 green and 5 white balls. One ball is taken out

at random. The probability that it is neither red nor white is

S @ 1
(C) % (D) %
A cos6 =< g, @ sind =
" bza_ o2 (I?)/] | bzb_ o2
© = o ks
2131-(44/50) Page 22 of 48




35.

If cos()=%,> then sin0 = [210]
Ab -ag 7=
b S
(C) D b° +q
b —a® (D) b
Jl-sin A _
Jl+sin A

(A) seCA+tan A (B) SeCA-tan A

(C) secA.tan A (D) sin A

tan30° sin30° cot60° cosec 30° \/

(A) —J% / B 43
1 = i
Y o

g A = 450 | ar seCA+cosecA HT HT &

A 1 B) V2

€ 2 D)  2v2

If A=45° then the value of sec A + cosecA is

) B) V2

e B0 93 of 48
[ 2131-(4/50 | 8¢
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- ¢
e B ) T b
GIqQ \Q\u i 3K v
N S, -
2] D
& H —
~
50
~) 2 =Y v—}
{C) 3043 H

& &
if the

vertcal tower that

2 30

1\_%? ;):—;: m
NS

(C) 3043 m

o< o =0p=30°. Gl
s"—g

{ " WS

(A 5
N
1

(C) 3

If « =3=30°

o 1
(C) =

angle of clevation of th

casts 3

(D)

B)

(D)

cos(a+pB) [ HIH

(B)

(D)

(B)

(D)

e —

} 313 1-(44/50) |

mr

1
—d

e sun 18 60°, th

0 m long shadow 1S

15f§ m

15m

L
J2

_then the value of cos{a+ B) is

L
J2

en the height of the

Page 24 of 48



60.

61.

62.

_2tan3ge
E~?1p:"‘305~ [21()]
(A) 0
B) 4
A
D 1
e ( ) —_—
' J3
tan65° "
cot25° B HA %
(A) o B
&
(C) 1 D) 1
The val tan65° .
¢ value of cot3ts 18 |
Ay o B) 1 \Q/GS
S e (D) 2
tan5°x tan30°x 4 tan85° =
(A) 5 B) 443
V3
© 1 (D) 4
sin? 37° + sin? 53° =
(A) 0 (Bl 1
© -1 )2
sinZ 48° ~ cos? 42° & H €
(B) 1
(A 0 &
~ @ 2
¢ -1 e Page 25 of 48
21C1 .a4/50) -




64.

The value of sin® 48° - cos? 470 ig
s B) 1
) -1 o 2

afg tan0 = /3 E\T, al seco HAM

I
2 B0
(A) = . (B) 5
1
(C) = , (D) 2

(A)

G

(C)

NI
S,
N

i cos9+sece=—2— ‘Eﬁ, ' cos? 0 +sec?0 T 7T &

w 2 ® L

© 20 D) 22

If cosb+sech = % , then the value of cos? 8 +sec? 9 is
w2 ® L
@ 2 o) 38

lq2 13 1 (44/50)] Page 26 of 48



c0300257° ~ tan? 33° w

[ 210 |
0
© -1 D)
co8 20°.8in 70° + 8in 20°, cog 7(e ',_-
A 1 (B) 2
{C] O (D) 1
sin 38° - cos 52° =
A 0 (Ey 1
© % O) -1

At i Faerhl s U T BTl Sen &t A ov s @ fromg s a8

ofereher &
NI | G
© % . o 2

BJ
If three coins are tossed simultaneously then the probability of

getting the same outcomes in all three coins is

: 1

@ 2 B L

) 3 o 32

© 1 2
["Q'I’é"'ii(éi/'qu'] Page 27.of 48



09.

70,

71,

gig P(E N |
)=0-05, @ , \
P(E ) SR _E‘\> | [210'
(&) 094 ¢
B) 09
© 003 °
(D) 005

I P(E)=
(E)=0-05, then P(E’) is equal to

(A) 094
(B) 095
C . |
() 0-03 D) 005
sin®6-1 _
cos2 0 B
(A) sec?0 (B) tan2 0
) =1 ' D) 1
x

P % wq ¥ 0-67 I fovEr o Wl ¢

o 5"
67
A —_— 67
( ) 20 x5 (Bl/ 22 X 52
© = | ‘0 T

In the form of _P 067 canbe written as

oM x 5"
67 B 67
(C) 26);75 (D) none of these
: .-_,_,,v,.,,__.___.______,_,_-——:::::__/ 'mﬂ
(Q 131-(44/50) as
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73.

74.

[210]
sin29=

(A) 1-cos? 0 (B) cos? 9 -1
©) ‘/—1_-:0—;3—6 (D)  ycos?0-1

Tl TH 3x—2y+3=0, 4x+3y—47=0 HIEA ¢

(A) . x=1,y=3 B) x=4,y=5
C) x=5,y=9 - (D) x=8,y=5

The solution of the pair of equatidns 3x-2y+3=0,

4x+3y—-47 =0 is
(A) x=1,y=3 . (B) x=4,y=5

) x=5,y=9 D) x=8,y=5

U FAR At & 99 A U HE (3y —1), (3y+5) a= (5y+1) €1

y hl Iﬂ:f%
@A -3 B) 4
€ s D) 2

The first three terms of an A.P. are (3y-1), (3y+5) and (Sy+1)
respectively. The value of y is

(A) -3 (B) 4

5 (D) 2

2151w ] S




7
= "

75.

76.

77.

78.

N
oL
AP. g ' .
)9) 12,.-.%%%% [21(
(A)
v B) -3
€ 6
D) -6
The Ccommon difference of the A.P, 6, 9,19, ...is
(4) 3 B -a
€ 6 ‘D -6
sin10° =
(A)  cosl0° B) gOs 80° o ,
(®)] sec 80° (D)  cosec80° O\‘\/ %f_/
. & }«(/ % /
8,5,2, ... 40 & UT § e .
z
&) -107 (B 109 o /\
| 3 g
(C) -111 D) -11 0\('5 iy
\ . O(/ X?_;B \
The 40th term of 8, 5, 2, ... is G\R q )éé\,\ |
: (B) —109 A’
(A) -107 .
| ~113 \ 4
(¢ -111 (D) 4
| 7, ;
AP. 11, 15, 19, ... ST HIA-91 TG 51 ¢
N &
B B 10 s o0 <8
(a) 9 N % :
XY <
< \\, {/\0(
ai o 12 £ sl ™
CVARY T

"QTS '1.:‘_4—4_/53’_



(210
ﬂ which term of AP. 11,15, 19, ... is 51 ?
w 9t (B) 10th
©) pith: D)  12th
: 1
frerfetfiaer & W foeept 11— & TR 2
79.
— ~ (B) sin60°
(A) sin 3
- « ™ A
(C) cos 45° (D) cos 60 ° Ay Fe
l\/ g 9 OV gy
: following is equal to —= ? B e /w
Which of the fo g q J—Q_ &
7o
(A) sin 30° B) sin 60°
(C)  cos45° (D) cos60°
80. AN tan®=+3, 7l 0 I AW FT MM 7 ST
(A) 90° ' (B) 45° T
(€) 3¢° (\m/ 60°
If tan® = +/3 , then what will be the value of 6 ?
(A) 9(Q° (B) 45°
(C) 30° (D) ‘ 60°
Bl 42 9t =g oot 5w stwet 3
(A) 1286 AHY? (B) 1386 "I ¢\
i \
‘\ b
€ 1486 a2 D) 39 q HIE Bl 4
— 0
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82.

83.

The area of 5 circle of diameter 42 cm i
| 1S

(A) 1286 cm?
(B) 1386 cm?2

(€) 1486 cm? '
D) None of these

ﬁqﬁaﬁfﬂmﬂaﬁwmﬁ«s%,a}mﬁw&ﬁwmm
(A) 3:4 |

B) 4:3

(C) 16:9

o D) 9:16

The ratio of the radii of two circles is 4 : 3. Then the ratio of thej

areas will be

Y
A) 2 B) 3
c 4 D) 5

If the area and perimeter of a circle are numerically equal, then the

diameter of the circle is

A) 2 B) 3
c 4 (D) 5
(213 1'1‘(41}”56{} Page 32 of 48



ﬂ {an 300 b ain 30° x sec 60° =

ad. 5 ‘/1{ (B) J3
© 7 ® 3

g5, i T FT 0 Sl BEREvS 3 e = R A €
(A ”'?%6 xnr? (B) 3’%6 x 21r
(©) "1"%6 x 21 - (D) 120 2

(210

The length of the arc corresponding to the sector having radius r and

angle 0 is

A segxmr (B) 32 = x2nr

C 0,0 : 0 2

(©) 180><2mr (D) TQ—O-Xﬂr
86. fag (-2, 5) Fre uqute A R 2

(A v | ®

S o) =

In which quadrant is the point ( - 2, 5) located ?

(A) First (B) Second

(C)  Third | (D)  Fourth

2131 -(aa/50) |
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87. y-wﬁﬁir—g(a,z}}aﬁ@%

A B 4 L
€ o D) 7 )\%
The distance of the point ( 3, 4 ] from y-axis is ?\j
@) 3 B). 4

< o : D) 7

88, AT AFT (-4,-6)F 32

@) 213 B) 13/2

() 10 | | (D) 24

The distance of point (~ 4, - 6 ) from the origin is &) A0
s -
a) 2413 | B) 132 LN . X Li
, \
€ 10 D) 24 e
) 1V | \: -
89. Taa (4,5) 9% (-3,2)F w A0 E @*&
(A) 58 (B) ., V58 sl %)
| Nt S
© 29 D) V29 %9
| ND
The distance between the points (4, 5) and (-3, 2) is \
—
() 58 B) V58 -9
=3
© 29 : D) V29 %) *
R ————— _——
— 215 warso Page 941



| 1210
Eﬁﬁaﬁ(%ﬂ)aﬁ(iwﬁfqﬂﬁmﬁmwwﬁﬁéﬁ
CENIC
(a)  (3,9) B)  (2,6)
(©) (2] (D) (3,1)

The coordinates of the midpoint of the line segment joining the points

(-3,4)and (7, 8) are
(&)  (3,5) B (2,6)

©  (2,4) O (3, 1)

o1 w%ﬁmmﬁw#a‘msﬁtﬁ%ﬁqﬁﬁﬁw#ﬁ
(a) 7o B) 149

(C) -« 219 (D) 28 JH

The sum of the circumference and radius of a circle is 51 cm. Then

the radius of the circle is

(A) 7 cm (B) l4cm -
€  21cm (D) 28 cm
T 213 1-(44/50) Page 35 of 48
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%2. swﬁwéﬂﬁﬁﬁﬁwww@;ﬁm%;@%m L

oy
ST & | 3% % SR WY By ¥
(A) 8 Qe B) 9T
(© 109w D) T ¥ F:E 7

A sphere of radius 8 cm is. melted and recast into a cone of height

32 cm. The radius of the base of the cone is

A)  8cm | ~ (B) 9cm

- 3 (C) 10 cm | (D) none of these -

93.

W@Wﬁ%%:3ﬁtﬁ3ﬁ?4@tﬁﬁwﬁaﬁﬁ$

3 cm and 4 cm respectively, then the radius of that circle is

(A)  7cm (B)  12cm

©) 5 cm (D) none of these

[lej-r-(;?/m Page 36 of 48




D

3
(A) "[4—'“- ®) §a2
4 2
Cl . p% D) Lg2
( ) J§ ( ) Jé'a

A side of an equilateral triangle ABCis q. Its area is

W Ba ® Lo
L -
©) J§a (D) Ea

95. ABC U §HfgeTg Brgs & ™es 2o = 90° 1

. N W ~
| dI< AC=069HT %. T AB-=

(A)  69Hr

ABC is an isosceles triangle in which £C = 90°. If AC=©

cm, then
AB =
(A) 6 cm (B) 6v2 cm
(C) 2J6 cm (D) 4J2 em
- @E@Ts@ Page 37 of 48




-

o7

98.

tan® _  tang _ [210]
secO-1 sec_6+1

(A) 2tan@ B) 2secH

(€ 2cosech (D) 2tang, secH

SMWWW%%%@PWW%@PQ%o@WW

U T ¥ 75 0 W 5w yer & fe 0Q= 12 ¥ pQ F TR &

A) 129 B) 139t

(C)  85dH D) 119 ¥

i 3 a lin
A tangent PQ at a point P of a circle of radius 5 cm meets a line

= . Length of
through the centre O at a point Q such that OQ = 12 cm gth

PQis
(A) 12 em _ (B) 13 cm
(C) 8:5 cm (D) N e
e Fos o SO W T AT e ¥
1
@ o - B
1
© 1 | P

Page 38 of 48
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ﬂ The probability of getting g taj) when a coin is tossg di
ed is

99.

100,

[210)

A 0 1
(A) (B) 5

1 1
€ ) e

U TE W R T U ¥ SW e o gems w5

10 B e &

A 2
W \ G
© 15 | O =

Two dice are thrown simultaneously. The probability that the sum of

the numbers appearing on these dice is 10 , is

1 1

W B £

; 1 1
S © 35

5in90° x tan 60° x cos 30° =

3
@ 2 B 3
() is o 0

(2131 0|
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N . U\‘Y\
d ,f)/OS ‘
C\@R/O\M\rﬂ \
- e R
ON _ X 0

If A =90° and B = 45°, then prove that
—~
cos(A-B)=cosA.cosB+sinA.sinB. ‘LD 5 ‘
£ I O

1\3// T AT ba? + ax +c = 0 FI f989% 71 &Y | %’
\ 2

A
Find the discriminant of quadratic equation bx“+ax+c=q_
14. @ foF x= - 3 GO 2x°+5x-3=0 FT TFH §A g )

Show that x = - 3 is a solution of equation 2x? +5x - 3= 0.
15, Feumm WERT 32— 443k +4=0 el H BT AT B :
Find the nature of the roots of the quadratic equatiop

322 -43x+4=0.
15, T A7, 13, 19, ... T FAA T 2058 2
Which term of the A.P. 7, 13, 19, ... is 205 ? |
17, k% A 7 FE P 0 2%+ ke 3=0 F A GO AATE ok

uA 2t} 2

Find the value of k for which 2x°+kx+3=0 has two real and equal

roots. <
| | | e\
5+9+13+17+...+81 &I HeT 7T FT| 6@‘\ 2
Find the sum of 5+9+13+17 +...+81. 0\(’/(95//
S o HETA HT SR 3 & AT ST S 504 ¥ G 7
cd , ' 5

The difference of two positive numbers is 3 and their product is 504.

Find the numbers
' \®
A

M%__‘__
F'r. .4 K ¥ P T i sene
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